

LINEAR SUM OF ANALYTIC FUNCTIONS DEFINED BY A CONVOLUTION OPERATOR

A. O. AJIBOYE¹ AND K. O. BABALOLA

ABSTRACT. In this paper, a new family $\mathcal{R}_n^\sigma(\beta, \lambda)$ of analytic functions defined by a convolution operator and a linear combination of some geometric expressions is presented. We established some early coefficient bounds, the Fekete-Szegő estimate and the Toeplitz determinant of the family.

Keywords and phrases: Analytic function, Carathéodory function, Babalola convolution operator, Fekete-Szegő functional and Toeplitz determinants

2010 Mathematical Subject Classification: 30C45

1. INTRODUCTION

As usual, let \mathcal{A} denote the family of normalized analytic functions

$$f(z) = z + a_2z^2 + \dots \quad (1)$$

which are analytic in the unit disk $\mathcal{E} := |z| < 1$.

Let \mathcal{S} denote the subfamily of \mathcal{A} consisting of functions univalent in \mathcal{E} . A function $f \in \mathcal{S}$ is called starlike of order β ($0 \leq \beta < 1$), if $Re(zf'/f) > \beta$ and convex of order β ($0 \leq \beta < 1$), if $Re(1 + (zf''/f')) > \beta$. However, if $\beta = 0$, they are respectively and simply called starlike and convex functions.

Also, let \mathcal{P} denote the family of functions

$$p(z) = 1 + c_1z + c_2z^2 + \dots \quad (2)$$

analytic and having positive real part in \mathcal{E} .

The functional $|a_3 - \lambda a_2^2|$ for class $f \in \mathcal{S}$ is well-known for its rich history in the theory of geometric functions. The functional has received great attention particularly in many subclasses of the family of univalent functions.

Received by the editors April 02, 2020; Accepted: May 12, 2020

www.nigerianmathematicalsociety.org; Journal available online at <https://ojs.ictp.it/jnms/>

¹Corresponding author

For integers $n, q \geq 1$, the q th Hankel determinant was defined by Pommerenke [15] as

$$H_q(n) = \begin{vmatrix} a_n & a_{n+1} & \cdots & a_{n+q-1} \\ a_{n+1} & a_{n+2} & \cdots & a_{n+q} \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+q-1} & a_{n+q} & \cdots & a_{n+2(q-1)} \end{vmatrix}$$

which includes the Fekete-Szegő functional as a special case when $\lambda = 1$ has also received the attention of many researchers for wide range of subclasses of functions.

Ramachandra and Kavitha [16] defined the symmetric Toeplitz determinants $T_q(n)$ as

$$T_q(n) = \begin{vmatrix} a_n & a_{n+1} & \cdots & a_{n+q-1} \\ a_{n+1} & a_n & \cdots & a_{n+q} \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+q-1} & a_{n+q} & \cdots & a_n \end{vmatrix}$$

for $q, n \geq 1$.

Babalola [3] defined the operator $\mathcal{L}_n^\sigma : \mathcal{A} \rightarrow \mathcal{A}$ as

$$\mathcal{L}_n^\sigma f(z) = (\tau_\sigma * \tau_{\sigma,n}^{-1} * f)(z) \quad (3)$$

where

$$\tau_{\sigma,n}(z) = \frac{z}{(1-z)^{\sigma-(n-1)}}, \quad \sigma - (n-1) > 0, \quad \tau_\sigma = \tau_{\sigma,0} \quad \text{and} \quad \tau_{\sigma,n}^{(-1)}$$

is such that

$$(\tau_{\sigma,n} * \tau_{\sigma,n}^{(-1)})(z) = \frac{z}{1-z}$$

for a fixed real number σ and $n \in \mathbb{N}$. Given $f \in \mathcal{A}$, then (3) is equivalent to

$$\mathcal{L}_n^\sigma f(z) = z + \sum_{k=2}^{\infty} \left\{ \frac{(\sigma+k-1)!}{\sigma!} \frac{(\sigma-n)!}{(\sigma+k-n-1)!} \right\} a_k z^k. \quad (4)$$

The operator was used to introduce families B_n^σ (in [3]) and S_n^σ (in [4]) of functions in \mathcal{A} . Hence, a function $f \in \mathcal{A}$ is in $B_n^\sigma(\beta)$ if

$$\operatorname{Re} \frac{\mathcal{L}_n^\sigma f(z)}{z} > \beta$$

and is in S_n^σ if

$$\operatorname{Re} \frac{\mathcal{L}_{n+1}^\sigma f(z)}{\mathcal{L}_n^\sigma f(z)} > \frac{\sigma - (n+1)}{\sigma - n}.$$

where $0 \leq \beta < 1$ and σ satisfies the inequality $\sigma - (n - 1) > 0$ for $n \in \mathbb{N}$. Also by putting some restrictions on σ and n in [4], the following relations hold true.

$$(\sigma - n)\mathcal{L}_{n+1}^\sigma f(z) = (\sigma - (n + 1))\mathcal{L}_n^\sigma f(z) + z(\mathcal{L}_n^\sigma f(z))' \quad (5)$$

$$(\sigma - n)(\mathcal{L}_{n+1}^\sigma f(z))' = (\sigma - n)(\mathcal{L}_n^\sigma f(z))' + z(\mathcal{L}_n^\sigma f(z))'' \quad (6)$$

The concept of linear combination of geometric expressions is not new any more. One may see the works in [1, 5, 8, 9, 12, 13, 17].

In this research we extend these results to linear combination of more general geometric expressions defined by (4).

Definition 1.1. Let $f \in \mathcal{A}$. Then f is in $\mathcal{R}_n^\sigma(\beta, \lambda)$ if

$$Re \left((1 - \lambda) \frac{\mathcal{L}_n^\sigma f(z)}{z} + \lambda \frac{\mathcal{L}_{n+1}^\sigma f(z)}{\mathcal{L}_n^\sigma f(z)} \right) > \beta, \quad z \in \mathcal{E}. \quad (7)$$

where $0 \leq \beta < 1$.

Remark 1.2. By varying some parameters in (7), if

- (1) $\lambda = 1$ and $n = 0$, then (7) reduces to a starlike function of order β
- (2) $\lambda = n = 0$, then (7) reduces to Yamaguchi [19] functions of order β (see also [18]).

We shall prove that if f satisfies (7), then $Re((\mathcal{L}_n^\sigma f(z))/z) > 0$ in \mathcal{E} for all λ such that $\lambda \leq \beta < 1$. For $n \geq 1$, univalence is implied by the results.

2. PRELIMINARY LEMMA

Let $p(z) = 1 + c_1z + c_2z^2 + \dots \in \mathcal{P}$. Then the following lemmas are useful in obtaining our results.

Lemma 2.1.[6] Let $p \in \mathcal{P}$. Then $|c_n| \leq 2$, $n = \mathbb{N}$. The inequality is sharp.

Lemma 2.2.[2] Let $p \in \mathcal{P}$. Then

$$\left| c_2 - \lambda \frac{c_1^2}{2} \right| \leq 2 \max\{1, |1 - \sigma|\}, \quad \lambda \in \mathbb{C}.$$

Lemma 2.3.[2] Let $u = u_1 + u_2i$, $v = v_1 + v_2i$ and $\psi(u, v)$ a complex-valued function satisfying conditions:

- a. $\psi(u, v)$ is continuous in a domain Ω of \mathbb{C}^2 ,
- b. $(1, 0) \in \Omega$ and $Re \psi(1, 0) > 0$,
- c. $Re \psi(\xi + (1 - \xi)u_2i, v_1) \leq \xi$ when $(\xi + (1 - \xi)u_2i, v_1) \in \Omega$ and $2v_1 \leq -(1 - \xi)(1 + u_2^2)$ for real number $0 \leq \xi < 1$.

If $p \in P$ such that $(p(z), zp'(z)) \in \Omega$ and $Re \psi(p(z), zp'(z)) > \xi$ for $z \in E$, then $Re p(z) > \xi$ in E .

Lemma 2.4.[14] Let $p \in \mathcal{P}$. Then

$$2c_2 = c_1^2 + x(4 - c_1^2)$$

and

$$4c_3 = c_1^3 + 2c_1(4 - c_1^2)x - c_1(4 - c_1^2)x^2 + 2(4 - c_1^2)(1 - |x|^2)z$$

for some x, z such that $|x| \leq 1$ and $|z| \leq 1$.

3. MAIN RESULTS

In what follows are the main results on this paper.

Theorem 3.1. If $\lambda \leq \beta < 1$, then $\mathcal{R}_n^\sigma(\beta, \lambda) \subset B_n^\sigma(\beta)$.

Proof. Let $f \in \mathcal{A}$, then for $p \in \mathcal{P}$ we define the equation

$$\frac{\mathcal{L}_n^\sigma f(z)}{z} = p(z),$$

differentiating $p(z)$ we have

$$z(\mathcal{L}_n^\sigma f(z))' = \mathcal{L}_n^\sigma f(z) + z^2 p'(z)$$

and by applying (5),

$$(\sigma - n)\mathcal{L}_{n+1}^\sigma f(z) = (\sigma - n)\mathcal{L}_n^\sigma f(z) + z^2 p'(z)$$

so that

$$\frac{\mathcal{L}_{n+1}^\sigma f(z)}{\mathcal{L}_n^\sigma f(z)} = 1 + \frac{z^2 p'(z)}{(\sigma - n)\mathcal{L}_n^\sigma f(z)}.$$

Now let $\mathcal{L}_n^\sigma f(z) = zp(z)$, then condition (7) can be expressed as

$$Re \left((1 - \lambda)p(z) + \lambda \left(1 + \frac{zp'(z)}{(\sigma - n)p(z)} \right) \right) - \beta > 0.$$

Define $\psi(u, v) = (1 - \lambda)u + \lambda \left[1 + \frac{v}{(\sigma - n)u} \right] - \beta$ on a domain $\Omega = [\mathbb{C} - \{0\}] \times \mathbb{C}$ of \mathbb{C}^2 . Clearly $\psi(u, v)$ satisfies the condition (a) of Lemma 2.3.

Moreso, $(1, 0) \in \Omega$ so $\psi(1, 0) = (1 - \lambda) + \lambda - \beta$ and $Re \psi(1, 0) = 1 - \beta > 0$,
 $0 \leq \beta < 1$.

Thus with $\xi = 0$ in Lemma 2.3 we have $\psi(u_{2i}, v_1) = (1 - \lambda)u_{2i} + \lambda \left[1 + \frac{v_1}{(\sigma - n)u_{2i}} \right] - \beta$. So that $Re\psi(u_{2i}, v_1) = \lambda - \beta \leq 0$ if $\lambda \leq \beta < 1$. Therefore ψ satisfies all the conditions of the Lemma 2.3 so that $Re(\mathcal{L}_n^\sigma f(z)/z) > 0$.

If $n = 0$ we have

Corollary 3.2. Let $n = 0$ and $\lambda \leq \beta < 1$. If

$$Re \left((1 - \lambda) \frac{f(z)}{z} + \lambda \frac{zf'(z)}{f(z)} \right) > \beta, \quad z \in \mathcal{E}$$

then

$$Re \frac{f(z)}{z} > 0.$$

If $n = 1$ we have

Corollary 3.3. Let $n = 1$ and $\lambda \leq \beta < 1$.

$$Re \left((1 - \lambda)f'(z) + \lambda \left(1 + \frac{zf''(z)}{f'(z)} \right) \right) > \beta, \quad z \in \mathcal{E},$$

then f is the Yamaguchi function in [19].

Theorem 3.4. Let $f \in \mathcal{R}_n^\sigma(\beta, \lambda)$. Then,

$$|a_2| \leq \frac{2(\sigma - n)(1 - \beta)}{[(\sigma - n)(1 - \lambda) + \lambda]M_2}$$

$$|a_3| \leq \frac{4\lambda(\sigma - n)^2(1 - \beta)^2 + 2[(\sigma - n)(1 - \lambda) + \lambda]^2(\sigma - n)(1 - \beta)}{[(\sigma - n)(1 - \lambda) + \lambda]^2[(\sigma - n)(1 - \lambda) + 2\lambda]M_3}$$

where

$$M_k = \frac{(\sigma + k - 1)!}{\sigma!} \frac{(\sigma - n)!}{(\sigma + k - n - 1)!} \tag{8}$$

Proof. Let $f \in \mathcal{R}_n^\sigma(\beta, \lambda)$, then in view of $p \in \mathcal{P}$, then define the equation

$$(1 - \lambda) \frac{\mathcal{L}_n^\sigma f(z)}{z} + \lambda \frac{\mathcal{L}_{n+1}^\sigma f(z)}{\mathcal{L}_n^\sigma f(z)} = \beta + (1 - \beta)p(z). \tag{9}$$

Considering (5), (6), (8), then comparing the coefficients of (9) we have

$$a_2 = \frac{(\sigma - n)(1 - \beta)c_1}{[(\sigma - n)(1 - \lambda) + \lambda]M_2} \tag{10}$$

and

$$a_3 = \frac{\lambda(\sigma - n)^2(1 - \beta)^2c_1^2 + [(\sigma - n)(1 - \lambda) + \lambda]^2(\sigma - n)(1 - \beta)c_2}{[(\sigma - n)(1 - \lambda) + \lambda]^2[(\sigma - n)(1 - \lambda) + 2\lambda]M_3} \quad (11)$$

and by applying Lemma 2.1, completes the proof.

Corollary 3.5. If $f \in \mathcal{S}^*(\beta)$, then $|a_2| \leq 2(1 - \beta)$ and $|a_3| \leq (1 - \beta)(3 - 2\beta)$ which are well-known.

Theorem 3.6. Let $f \in \mathcal{R}_n^\sigma(\beta, \lambda)$ and $\mu \in \mathbb{C}$. Then,

$$|a_3 - \mu a_2^2| \leq \frac{2(\sigma - n)(1 - \beta)}{[(\sigma - n)(1 - \lambda) + 2\lambda]M_3} \max \left\{ 1, \left| 1 - \frac{2(\sigma - n)(1 - \beta)A}{[(\sigma - n)(1 - \lambda) + \lambda]^2M_2^2} \right| \right\}$$

where $A = [\mu[(\sigma - n)(1 - \lambda) + 2\lambda]M_3 - \lambda M_2^2]$ and M_k is as defined in (8).

Proof. From (10) and (11) we have

$$|a_3 - \mu a_2^2| = \left| \frac{(\sigma - n)((1 - \beta)c_2 + B)}{[(\sigma - n)(1 - \lambda) + 2\lambda]M_3} \right|$$

where

$$B = \frac{\lambda(\sigma - n)(1 - \beta)^2M_2^2c_1^2 - \mu(\sigma - n)(1 - \beta)^2[(\sigma - n)(1 - \lambda) + 2\lambda]M_3c_1^2}{[(\sigma - n)(1 - \lambda) + \lambda]^2M_2^2}$$

and

$$|a_3 - \mu a_2^2| \leq \frac{(\sigma - n)(1 - \beta)}{[(\sigma - n)(1 - \lambda) + 2\lambda]M_3} \left| c_2 - \eta \frac{c_1^2}{2} \right|$$

where $\eta = \frac{2(\sigma - n)(1 - \beta)[\mu[(\sigma - n)(1 - \lambda) + 2\lambda]M_3 - \lambda M_2^2]}{[(\sigma - n)(1 - \lambda) + \lambda]^2M_2^2}$.

Thus using Lemma 2.3, then the results follow.

For $\lambda = \sigma = 1$ and $n = 0$, we have

Corollary 3.7. If $f \in \mathcal{S}^*(\beta)$, then

$$|a_3 - \mu a_2^2| \leq (1 - \beta) \max\{1, |1 - (4\mu - 2)(1 - \beta)|\}.$$

Theorem 3.8. Let $f \in \mathcal{R}_n^\sigma(\beta, \lambda)$. Then,

$$T_2(2) = |a_3^2 - a_2^2| \leq 16 \left(\frac{(\sigma - n)^2(1 - \beta)^2}{4L^2M_3^2} + \frac{\lambda(\sigma - n)^3(1 - \beta)^3((\sigma - n)(1 - \beta)\lambda + K^2)}{L^2K^4M_3^2} \right) - \frac{4(\sigma - n)(1 - \beta)^2}{K^2M_2^2}$$

where

$$K = [(\sigma - n)(1 - \lambda) + \lambda] \quad \text{and} \quad L = [(\sigma - n)(1 - \lambda) + 2\lambda]. \quad (12)$$

Proof. Using (10), (11) and (8) we have

$$|a_3^2 - a_2^2| = \left| \frac{K^4(\sigma - n)^2(1 - \beta)^2c_2^2}{L^2K^4M_3^2} + \frac{2\lambda K^2(\sigma - n)^3(1 - \beta)^3c_1^2c_2}{L^2K^4M_3^2} + \frac{\lambda^2(\sigma - n)^4(1 - \beta)^4c_1^4}{L^2K^4M_3^2} - \frac{(\sigma - n)^2(1 - \beta)^2c_1^2}{K^2M_2^2} \right| \quad (13)$$

Now applying Lemma 2.4, (12) and let $X = 4 - c_1^2$, then

$$|a_3^2 - a_2^2| = \left| \frac{(\sigma - n)^2(1 - \beta)^2c_1^4}{4L^2M_3^2} + \frac{(\sigma - n)^2(1 - \beta)^2xXc_1^2}{2L^2M_3^2} + \frac{(\sigma - n)^2(1 - \beta)^2x^2X^2}{4L^2M_3^2} + \frac{\lambda(\sigma - n)^3(1 - \beta)^3c_1^4}{L^2K^2M_3^2} + \frac{\lambda(\sigma - n)^3(1 - \beta)^3xXc_1^2}{L^2K^2M_3^2} + \frac{\lambda^2(\sigma - n)^4(1 - \beta)^4c_1^4}{L^2K^4M_3^2} - \frac{(\sigma - n)^2(1 - \beta)^2c_1^2}{K^2M_2^2} \right|$$

Without loss of generality, let $c = c_1$, implies $|c| = |c_1| \leq 2$, hence $c \in [0, 2]$ Now by triangle inequality,

$$|a_3^2 - a_2^2| \leq \left| \left(\frac{(\sigma - n)^2(1 - \beta)^2}{4L^2M_3^2} + \frac{\lambda(\sigma - n)^3(1 - \beta)^3((\sigma - n)(1 - \beta)\lambda + K^2)}{L^2K^4M_3^2} \right) c^4 - \frac{(\sigma - n)^2(1 - \beta)^2c^2}{K^2M_2^2} \right| \quad (14)$$

$$\begin{aligned}
& + \frac{(\sigma - n)^2(1 - \beta)^2(K^2 + 2\lambda(\sigma - n)(1 - \beta))|x|Xc^2}{2L^2K^2M_3^2} \\
& + \frac{(\sigma - n)^2(1 - \beta)^2|x|^2X^2}{4L^2M_3^2} =: \phi(|x|).
\end{aligned}$$

Now,

$$\begin{aligned}
\phi'(|x|) & = \frac{(\sigma - n)^2(1 - \beta)^2(K^2 + 2\lambda(\sigma - n)(1 - \beta))Xc^2}{2L^2K^2M_3^2} \\
& \quad + \frac{(\sigma - n)^2(1 - \beta)^2|x|X^2}{2L^2M_3^2}
\end{aligned}$$

so that

$$\begin{aligned}
\phi(1) & = \left| \left(\frac{(\sigma - n)^2(1 - \beta)^2}{4L^2M_3^2} \right. \right. \\
& \quad \left. \left. + \frac{\lambda(\sigma - n)^3(1 - \beta)^3((\sigma - n)(1 - \beta)\lambda + K^2)}{L^2K^4M_3^2} \right) c^4 \right. \\
& \quad \left. - \frac{(\sigma - n)^2(1 - \beta)^2c^2}{K^2M_2^2} \right| \\
& \quad + \frac{(\sigma - n)^2(1 - \beta)^2(K^2 + 2\lambda(\sigma - n)(1 - \beta))Xc^2}{2L^2K^2M_3^2} \\
& \quad + \frac{(\sigma - n)^2(1 - \beta)^2X^2}{4L^2M_3^2} \tag{15}
\end{aligned}$$

Clearly $\phi'(|x|) > 0$ on $[0, 1]$ and $\phi(|x|) \leq \phi(1)$, hence

$$\begin{aligned}
|a_3^2 - a_2^2| & \leq \left| \left(\frac{(\sigma - n)^2(1 - \beta)^2}{4L^2M_3^2} \right. \right. \\
& \quad \left. \left. + \frac{\lambda(\sigma - n)^3(1 - \beta)^3((\sigma - n)(1 - \beta)\lambda + K^2)}{L^2K^4M_3^2} \right) c^4 \right. \\
& \quad \left. - \frac{(\sigma - n)^2(1 - \beta)^2c^2}{K^2M_2^2} \right| \\
& \quad + \frac{(\sigma - n)^2(1 - \beta)^2(K^2 + 2\lambda(\sigma - n)(1 - \beta))Xc^2}{2L^2K^2M_3^2} \\
& \quad + \frac{(\sigma - n)^2(1 - \beta)X^2}{4L^2M_3^2} \frac{(\sigma - n)^2(1 - \beta)^2(K^2 + 2\lambda(\sigma - n)(1 - \beta))Xc^2}{2L^2K^2M_3^2}
\end{aligned}$$

and

$$\begin{aligned}
 |a_3^2 - a_2^2| \leq & \left| \left(\frac{(\sigma - n)^2(1 - \beta)}{4L^2M_3^2} \right. \right. \\
 & \left. \left. + \frac{\lambda(\sigma - n)^3(1 - \beta)^3((\sigma - n)(1 - \beta)\lambda + K^2)}{L^2K^4M_3^2} \right) c^4 \right. \\
 & \left. - \frac{(\sigma - n)^2(1 - \beta)^2c^2}{K^2M_2^2} \right| \\
 & + \frac{(\sigma - n)^2(1 - \beta)^2 \left(\frac{2(K^2 + 2\lambda(\sigma - n)(1 - \beta))c^2}{K^2} - \frac{(K^2 + 2\lambda(\sigma - n))c^4}{2K^2} + 4 - 2c^2 + \frac{c^4}{4} \right)}{L^2M_3^2}
 \end{aligned}$$

Thus and trivially $\phi(|x|)$ has a maximum value at

$$\begin{aligned}
 |a_3^2 - a_2^2| \leq & 16 \left(\frac{(\sigma - n)^2(1 - \beta)^2}{4L^2M_3^2} \right. \\
 & \left. + \frac{\lambda(\sigma - n)^3(1 - \beta)^3((\sigma - n)(1 - \beta)\lambda + K^2)}{L^2K^4M_3^2} \right) \\
 & - \frac{4(\sigma - n)(1 - \beta)^2}{K^2M_2^2}
 \end{aligned}$$

Corollary 3.9. If $f \in \mathcal{S}^*(\beta)$, then

$$T_2(2) = |a_3^2 - a_2^2| \leq (1 - \beta) \left(4(1 - \beta)(2 - \beta) - 3 \right).$$

4. CONCLUDING REMARKS

In this paper we have defined a class of analytic function using Babalola convolution operator introduced in [3]. We then established some initial coefficient bounds, the Fekete-Szegö estimate and the Toeplitz determinant of the family.

ACKNOWLEDGEMENTS

The authors would like to thank the referee for making useful corrections in the original version of this manuscript.

REFERENCES

- (1) H. S. Al-Amiri and M. O. Reade, *On a Linear Combination of Some Expressions in the Theory of Univalent Functions*, Monatshefte für Mathematik, vol.80, 257–264, 1975.
- (2) K. O. Babalola and T. O. Opoola, *Iterated Integral Transforms of Carathéodory Functions and Their Application to Analytic and Univalent Functions*, Tankang Journal of Mathematics, vol.37, Issue 4, 355–366, 2006.

- (3) K. O. Babalola, *New Subclasses of Analytic and Univalent Functions Involving Certain Convolution Operator*, *Mathematica*, Tome, vol.50, Issue 73, 3–12, 2008.
- (4) K. O. Babalola, *On some Starlike Mapping Involving Certain Convolution Operator*, *Mathematica*, Tome, vol. 51, Issue 74, 111–118, 2009.
- (5) K. O. Babalola, *On a Linear Combination of some Geometric Expressions*, *Indian Journal of Mathematics*, vol.51, no. 1, 183–192, 2009.
- (6) P. L. Duren, *Univalent Functions*, Springer-Verlag Inc, New York, 1983.
- (7) M. Fekete and G. Szegő, *Eine bemerkung über ungerade schlichte funktionen*, *Journal of London Mathematical Society*, vol.8, 85–89, 1933.
- (8) R. M. Goel and N. S. Sohi, *Subclasses of Univalent Functions*, *Tamkang J. Math.* vol. 11, 77–81, 1980.
- (9) S. Gagandeep and S. Gurcharanjit, *On Third Hankel Determinants for a Subclass of Analytic Functions*, *Open Science Journal of Mathematics and Applications*, vol. 3, Issue 6, 152–155, 2015.
- (10) M. A. Ganiyu, F. M. Jimoh, C. N. Ejieji and K. O. Babalola, *Coefficient Estimates for Certain Classes of Analytic Functions*, *Journal of the Nigerian Mathematical Society*. vol. 33, 175–183, 2014.
- (11) F. M. Jimoh and K. O. Babalola, *Analytic Functions Defined by a Product of Expressions Having Geometric Meaning*, *Journal of Classical Analysis*, vol. 10, no. 1, 39–47, 2017.
- (12) Z. Lewandowski, S. Miller and E. Zlotkiewicz, *Gamma-starlike Function*, *Annales Universitatis Mariae Curie-Sklodowska Sectio A, Mathematica*, vol. 28, 32–36, 1974.
- (13) Z. Lewandowski, S. Miller and E. Zlotkiewicz, *Generating Functions for some Classes of Univalent Functions*, *Proceedings of the American Mathematical Society*, vol. 56, no. 1, 111–117, 1976.
- (14) R. J. Libera and E. J. Zlotkiewicz, *Early Coefficients of the Inverse of a Regular Convex Function*, *Proceedings of the American Mathematical Society*. vol. 85, Issue 2, 225–230, 1982.
- (15) C. Pommerenke, *On the Coefficients and Hankel Determinants of Univalent Functions*, *Proceedings of the London Mathematical Society*, vol. 41, no. 1, 111–122, 1966.
- (16) C. Ramachandran and D. Kavitha, *Toeplitz Determinant for some Subclasses of Analytic Functions*, *Global Journal of Pure and Applied Mathematics*, vol. 13, no. 2, 785–793, 2017.
- (17) V. Singh, S. Singh and S. Gupta, *A Problem in the Theory of Univalent Functions*, *Integral Transforms and Special Functions*, vol. 16, Issue 2, 179–186, 2005.
- (18) P. D. Tuan and V. V. Anh, *Radii of Starlikeness and Convexity for Certain Classes of Analytic Functions*, *Journal of Mathematical Analysis and Applications*, vol. 64, Issue 1, 146–158, 1978.
- (19) K. Yamaguchi, *On functions satisfying $Re(f(z)/z) > 0$* , *Proceedings of the American Mathematical Society*, vol. 17, Issue 3, 588–591, 1966.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF ILORIN, ILORIN, NIGERIA
E-mail address: amajiboye99@gmail.com

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF ILORIN, ILORIN, NIGERIA
E-mail address: kobabalola@gmail.com